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1. Geoffrey Chaucer belongs to -

(A) 13™ Century (B) 14" century
(C) 15™ Century (D) 16™ Century
2. The famous Soliloquy beginning with ‘to be or not to be’ occurs in -
(A) Macbeth (B) Othello
(C) Hamlet (D) King Lear
3. Which of the following is not by Milton?
(A) Comus (B) Lycidas
(C) Paradise Lost (D) Annus Mirabilis
4. Which of the following is not a character in Dryden’s ‘Absalom and Achito phal’?
(A) Zimri (B) Corah
(C) Barzillai (D) Achilles

5.  ‘Belinda smiled and all the world was gay. Who is Belinda?
(A) The protagonist of ‘The Rape of the Lock’ (B) The heroine of ‘Twelfth Night’
(C) The main character of ‘The faerie Queene’ (D) The beloved of Hamlet, the prince
6.  Which of the following is not by Swift?
(A) Tale of a Tub (B) Battle of the Books
(C) Robinson Crusoe (D) Gulliver’s Travels
7. Which is incorrect match?
(A) Richardson — Pamela
(B) Henry Fielding — Amelia
(C) Tobias Smollett - Roderick Random
(D) Jane Austen — Far from madding crowd
8.  Preface to Lyrical Ballads is best defined as -
(A) Document of French Revolution
(B) Manifesto of Romantic Poetry
(C) Gospel of the dignity of man
(D) Story of Words worth and Coleridge’s friendship.
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10.

11.

12.

13.

14.

15.

Keats is known for -

(A) His sensuousness (B) Escapesism
(C) Beauty worship (D) All the above
Which of the following is incorrect match?

(A) Tennyson — Andrea Del Sarto

(B) Browning — The last ride together

(C) Arnold — Dover Beach

(D) Tennyson — In memoriam
‘Morte D' Arthur, inspired by the memory of a friend, is written by -

(A) Wordsworth (B) Shelley
(C) Tennyson (D) Browning
Pre-Raphaelites were -

(A) Deeply influenced by Italy

(B) Practised pictorial art

(C) Also known as the Rossetti group

(D) All the above
Which of Arnold’s work is a quest for a center of authority to regulate anarchy?

(A) Rugby Chapel (B) Thyrsis

(C) Empedocles on Etna (D) Culture and anarchy
Rabbi Ben Ezra by Browning is

(A) A eulogy of old age (B) A prayer to God

(C) A tribute to Ezra (D) A lament for lost youth
The parish boy’s progress is the subtitle of Dickens’s novel -

(A) David Copperfield (B) Nicholas Nickleby

(C) Oliver twist (D) Little Dorrit
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16. The famous quote by Hardy, ‘Happiness was but the occasional episode in a general
drama of pain’, occurs in -
(A) Jude the obscure
(B) Far from the madding crowd
(C) The Mayor of Casterbridge
(D) Tess of d’Urbervilles
17.  Which of the following is a novel by Thackeray?
(A) Vanity Fair (B) Hard times
(C) Jane Eyre (D) Adam Bede
18. ‘Wuthering Heights’ was -

(A) Written under the pseudonym ‘Ellis Bell’
(B) The only novel written by Emily Bronte
(C) Published in 1847
(D) All the above
19.  Which of the following is not correct about George Eliot?
(A) Her real name was Mary Ann Evans
(B) She wrote Middle march
(C) ‘Jane Eyre’ was her best work
(D) She wrote in the 19" century
20. Who is not a Victorian prose writer?
(A) Carlyle (B) Ruskin
(C) Arnold (D) Johnson
21. Who is not a 20" century thinker?
(A) Einstein (B) Robert Southey
(C) Darwin (D) Freud
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22. Who is not a war poet?

(A) Hardy (B) Owen

(C) Sassoon (D) Rosenberg
23.  What is not correct about G.B. Shaw?

(A) He was born in Dublin

(B) He was awarded the Nobel prize

(C) He wrote the playboy of the western world

(D) He was a playwritter

24. Which of Conrad’s novel is about a Voyage up the Congo River?
(A) Lord Jim (B) Heart of Darkness
(C) The Nigger of the Narcissus (D) The Inheritors

25. What is not correct about W. B. Yeats?
(A) He established ‘Irish Literary Revival’ movement

(B) He wrote Byzantium poems
(C) He won the Nobel Prize
(D) He was married to Maud Gonne, his muse
26. Yeats ‘poem ‘the second coming’ has -
(A) The image of a ‘rough beast’ (B) A journey of the soul
(C) Image of dry bones (D) All the above
27.  Which of the following is not by T.S. Eliot?
(A) The countess cathleen (B) The family Reunion
(C) Murder in the Cathedral (D) The Cocktail Party
28. Eliot’s ‘The waste Land’ is about -
(A) Spiritual sterility (B) Nostalgia for past

(C) Progress of mankind (D) Political developments
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29.

30.

31.

32.

33.

34.

35.

36.

Who is the main character in Lawrence’s ‘The Rainbow’ and Women in love’?

(A) Anna

(C) Tom

James Joyce is known for -

(A) Sprung Rhythm

(C) Stream of consciousness

Who is the writer of ‘A Rose for Emily’?
(A) Conrad

(C) Faulkner

Who has authored ‘The Jungle Book’?
(A) Orwell

(C) Kipling

‘Eric Arthur Blair’ was the real name of -
(A) George Orwell

(C) W.B. Yeats

Orwell’s novel Nineteen Eighty four is -
(A) A utopian novel

(C) A fable

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

E. M. Forster’s novel ‘A passage to India’ is about -

(A) East west encounter

(C) Man women relationship

(B)
(D)

Ursula

Lydia

Magic realism

Blank verse

Kipling

Dickens

Faulkner

Eliot

T. S. Eliot

D. H. Lawrence

A dystopian novel

Post modern novel

Decolonisation

Eulogy to India

Which of the following is not written by Virginia woolf?

(A) Mrs Dalloway

(C) Ulysses

(B)
(D)

To the lighthouse

A Room of one’s own
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37. Huxley’s novel ‘Brave New world’ belongs to the genre of
(A) Realist fiction (B) Surrealist fiction
(C) Science fiction (D) Romantic fiction
38. Who is the hero of the novel ‘The Great Gatsby’?
(A) Nick Carraway (B) Jay Gatsby
(C) Daisy Buchanan (D) Tom Buchanan
39. Who is the old man in Hemingway’s novel? “The old man and the sea”.
(A) Santiago (B) Manolin
(C) Merlin (D) Christy
40. “Woods are lovely, dark and deep And I have miles to go before I sleep” the above lines
are written by -
(A) J. L. Nehru (B) Robert frost

(C) Wolf Whitman (D) P. B. Shelley
41. Sylvia Plath is -

(A) A romantic poet (B) An Elizabethan poet

(C) A confessional poet (D) A metaphysical poet
42. Which play does not belong to the theatre of the Absurd?

(A) The Birth day Party (B) Waiting for Go dot

(C) The caretaker (D) Look back in Anger

43. Aristotle’s ‘Poetics’ defines the function of tragedy as -
(A) Hamartia (B) Katharsis
(C) Peripeteia (D) Mimesis

44. Which of the following is not a part of Eliot’s book “The Sacred Wood™?
(A) Hamlet (B) Metaphysical poets

(C) Tradition and Individual Talent (D) Function of poetry
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45.

46.

47.

48.

49.

50.

The theory of deconstruction was propounded by -

(A) Saussure (B) Levi— Strauss
(C) Derrida (D) Foucault

Who has written ‘The Second Sex’?

(A) Mary Wollstonecraft (B) Elaine Showalter
(C) Simon de Beauvoir (D) Virginia Woolf
What is iambic pentameter?

(A) Five feet of stressed and unstressed syllables

(B) Five syllables in one line

(C) Five feet of unstressed syllables

(D) Ten syllables in one line

Which of the following has more than one syllable?

(A) One (B) Ten

(C) Nine (D) Six

What does MLA stand for in ‘MLA Handbook for writers of Research paper’?
(A) Modern literature Association

(B) Medieval Language Agency

(C) Modern literature Agency

(D) Modern Language Association

Which of the following is not a phonetic symbol?

(A) p (B) y

G t D) ]

Ooog
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